
Aire et Volume d’un Cône (E)
Calculez l’aire et le volume de chaque cône.

Aire = πr(r +
√
h2 + r2) Volume = πr2

h

3

r = 94,08 yd

h = 99,20 yd

•

1.

r = 19 km

h = 76 km

•

2.

r = 39,2 dm

h = 154,0 dm

•

3.

r = 86,36 nm

h = 178,50 nm

•

4.
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Aire et Volume d’un Cône (E) Réponses
Calculez l’aire et le volume de chaque cône.

Aire = πr(r +
√
h2 + r2) Volume = πr2

h

3

r = 94,08 yd

h = 99,20 yd

•

1.

Aire: 68.214,76 yd2

Volume: 919.464,38 yd3

r = 19 km

h = 76 km

•

2.

Aire: 5810 km2

Volume: 28.731 km3

r = 39,2 dm

h = 154,0 dm

•

3.

Aire: 24.397,4 dm2

Volume: 247.811,5 dm3

r = 86,36 nm

h = 178,50 nm

•

4.

Aire: 77.228,75 nm2

Volume: 1.394.094,15 nm3
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